Fluency Fifteen [ 7121 )

Place Value
. What are the missing numbers? ?+7?7+7=652

. What is the value of the underlined digit? 803

. Make an odd number between 700 and 800 using ....5 7 8
What is 10 more than 8917

Decrease 400 by 10.

o o b w N =

Order these amounts in ascending order.

86p £5 68p 564p
7. Complete the sequence.
92, 88, ,80,76,

8. What number is the arrow pointing to?

100 / 150

Addition and Subtraction

9.90 + 507 =
10.645-5+=

11. 870 - 500 =
12.290 + 147 =
13.£4.35 + £1.54
14. 768 - 245 =
15.£4.65-£2.99 =
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